Tree Diagrams in reverse / conditional probability

  Q1. The winter and summer sports for the boys at a local school were surveyed.

 






    The probability of playing tennis is 0.48

    a)  Complete the tree diagram.

    b) Calculate p(S,C) 
    c)  Calculate p(B,C)

    d) What is the probability that a cricket player plays soccer?

    Q2 The sports were also surveyed for the girls.






    68% of the girls played tennis.

   a) Complete the tree diagram.

   b) Calculate p(S,V)

   c) Calculate p(N,V)

   d) What is the probability that a volleyball player plays netball?

  Q3.At a student hall of residence meal options were surveyed







   34.5% of students had fruit for dessert.

   a) Complete the tree diagram

   b) What is the probability that someone who had cheese for dessert had pasta?

   c) What is the probability that the next person who had beef would have fruit?

   d) What is the probability the the next person to be served would have beef and fruit?

  Q4. At a Wellington school, cycle helmet use was surveyed.



  




    It was found that 40% of the cyclists were girls.

    16% of the students don’t wear helmets.

    75% of the students who don’t wear helmets are boys.

   a) Complete the tree diagram

   b) What is the probability that the next girl on a bike will be wearing a helmet?

   c) What is the probability that the next cyclist to leave school will a girl wearing a helmet? 
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